7/0({0 & (@ @@ addition av fraktioner (korrekt fraktion) (felaktig

6060 T fraktion)

namn: Datum: Poéng:
1 5 3 7
— 4+ = = — 4 - =
3 6 5 3
4 3 4 6
-+ = = — 4 — =
5 5 9 7
4 3 3 6
9 8 5 9
1 4 3 2
2 9 4 6
4 1 5 2
7 6 2 7
6 1 5 4
4 3 3 5
7 2 3 3
— 4+ = = 4+ =
3 8 2 9
4 1 6 5
-+ - = — 4 - =
8 5 9 3
3 4 4 5
Z 4+ - = — 4 - =
2 9 6 9
4 5 2 4
— 4+ - = — 4 - =
3 3 6 3
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7%/@‘ & @&@ addition av fraktioner (korrekt fraktion) (felaktig

6060 *x k bk fraktion)
namn: Datum: Poéng:

1 5 7 1 3 7 4 14
S+ Z==1- o =—_=2_
3 6 6 6 5 3 1 15
4 3 7 2 4 6 82 19
—4+Z=_=1Z o= =12
5 5 5 5 9 7 3 63
4 3 59 3 6 19 4
_+= T4 =—=1—
9 8 72 5 9 1 15
1 4 17 3 2 13 1
=L e e
2 9 18 4 6 1 12
4 1 31 5 2 39 11
=" T+ ==
7 6 42 2 7 1 14
6 1 11 5 5 4 37 7
o =— =12 4= =0_
4 3 6 6 3 5 1 15
7 2 31 7 3 3 11 5
—+S==2_ Z42=— =12
3 8 12 12 2 9 6 6
4 1 7 6 5 7 1
S4o = =
8 5 10 9 3 3 3

3 4 35 17 4 5 11 2
o= = S+Z=—=1%
2 9 18 18 6 9 9 9
4 5 2 4 5 2
—+Z=3 St ==1Z
3 3 6 3 3 3
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